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QuiThe Concept of the Mole
For the following questions, use the following equation: <~ H, + 10,

1. Ifi have 1 liter of water, how many moles of O, do | have?

0
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2. Iflhave0. 652 mol of H,0, how many mol of H, are used7‘
- \
3. How many moles of O, are needed to make 5.0 moles of H,0?
| O (Y S =)
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4. How many moles of H, are-reacted-with-0; to form 10.0 moles of H,O0?
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Quiz 4B: The Concept of the Mole

; S
For the following questions, use the following equation: _2- H, +_[02 > Z_HZO \J 7[34

1. If I have 10 liters of water, how many moles of O, do | have?

[01iters W,0 . Tmole 120 10,
Y —— x—\——-~x . &e@l
, 229LM4,0 2 H.0 0- Ll
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2. If I have 0.250 mol of H,0, how many mol of H, are used?

0'260 mO’ Hzoy sz_ = TOQ_BD mo\ HZ]

, 7 H;0
\ i \ : = \ _J
“TpTs. Tt “Tpts.
3. How many moles of O, are needed to make 15.0 moles of H,0?
16.0
15.0mole H7,D ¥ 1 O = 5 = \75 YY\O\P Oﬂ
\ —3 ’ \ N
Tp¥s pis. Ipts.

4. How many moles of H, arereactedwith=0; to form 12.0 moles of H,0?

12 mdles H,0y —2H2_ _ T19 voles H
21 R0y s = [12moles Hy |
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Quihe Concept of the Mole
For the following questions, use the following equation: L N, +&_H2 > LNHg -

1. If1 have 1 liter of ammonia, how many moles of N, do | have?

Uiter Nis | molo My, I N2 _ [//\’_7
— ‘T Ozmol Ny

22.4L N¥,,

2. If I have 0.052 mol of NHs, how many mol of H, are used?

0.052 NHs 5 Wz - 0,0“IBmo\eH/z\
1 2NHs | . .

3. How many moles of N, are needed to make 5.0 moles of NH;?

5.0 mole N} | N2 _ o 1
S et 2.5 mo N2

4. How many moles of H, are-reacted-with-N, to form 10.0 moles of NH;?

10 moles NHz Ohz  _ 1S mole H
) X‘ QYYTO\Q.NH’:s @
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QUI 4D). The Concept of the Mole
For the following questions, use the following equation: '_ N, +:_))_H2 > LNH3

1. Ifl have 12 liters of ammonia, how many moles of N, do | have?

12 Iiters NH5 v | mol gy, | N2 :' 0. 2B mde N
! 224 M3 2N

2. If I have 0.056 mol of NHs, how many mol of H, are used?

0056 i, 3H, _ m
\ M 7_@—3 O 8"’\ Mo HZ

3. How many moles of H, are needed to make 12.06 moles of NH;?

12.06 N5 _ S hs -8, le 1, |
— YT IN 7 Ny [12.0 mae v, |

4. How many moles of N, are-reacted-with-H, to form 8 moles of NH;?

3 mol Nis . I N2 “4 maoes ’\Bz

—_— I NP5




